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9. 40 minutes
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11. E, C, D, A, F, B. G
12. [image: ]
13. B is the odd one out#
14. Toni is correct, if the tenths digit is a 5 it is rounded up
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20. Lilianna is incorrect, it is 9 hundredths
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2
) Fraction Is it equivalent to 22
or x

3) They have all eaten the same amount of chocolate because 3, 5 and i are all equivalent to ome half.

1) 4 shows 3, B shows § and C shows § . All of these fractions are equivalent to . D is the odd one out
because it shows & which is equivalent to % or .

2) False because as the denominator increases the size of the parts decreases so more are needed to make the
fraction equivalent.

Children may draw fraction images to prove that the mumerator changes when identifying equivalent fractions.

ity
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3) They have all eaten the same amount of chocolate because 3, 5 and i are all equivalent to ome half.

1) 4 shows 3, B shows § and C shows § . All of these fractions are equivalent to . D is the odd one out
because it shows & which is equivalent to % or .

2) False because as the denominator increases the size of the parts decreases so more are needed to make the
fraction equivalent.

Children may draw fraction images to prove that the mumerator changes when identifying equivalent fractions.

3) Children should draw a bar model or an other fraction image to show the relationship between sixths and
twelfths. They should say they disagree and explain that four twelfths are smaller than three sixths so they are
ot equivalent.

you sort the bricks into the fraction types and put them together, you can make 4 wholes. The bricks
‘should be divided so that Mr Humpty and Mrs Humpty both have the eguivalent of two wholes each.
For example, Mrs Humpty could have | whole and 2 halves and Mr Humpty could have 4 quarters and §
eighths.

1) Mr and Mrs Humpty can have the same amount of wall each but ot the same mumber of bricks. If
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1) Lisa’s modelis not comeet. Her model has started with 3, not 5.
The second madel is comect.

12_1,, 2
nem»em.:(u ")ui.

nemﬁu,n..tc,mwumadw.fi".

b) Children’s answers should show a model and a matching caleulation where the answer equals % .
For example:

3l

2
.

2
| %

1) Children’s answers should include at least one of each type of representation. For example:
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Maths Mastery - Time Answers

There are more seconds in a minute than minutes
inan hour. False

7. Not correct

8. Raj practises 8 minutes more than Emilia.

9. 25 minutes
10:00 a.m. 12:00 p.m. 4:00 p.m.

2. Rishi started playing at 10 minutes to 4.
3. 40 minutes
4.

’ n 12 \
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8 “ 8 “ 8 “ 8. Raj practises 8 minutes more than Emilia.
745 765 745

9. 25 minutes
10:00 a.m. 12:00 p.m. 4:00 p.m.

2. Rishi started playing at 10 minutes to 4.

3. 40 minutes

o

. 18 lengths

6. There are 35 days in 5 weeks. True
2 minutes is 110 seconds long. False
Half a day is 13 hours. False
There are 24 months in 2 years. True
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3) ooland
PR 0.69=5
1) Bis the odd one out because it represents S0 hundredths (fve tenths). 4, ¢ and b all represent fve =

2) The mumerator is the same as the decimal because the mumerator and decimal both represent 39 parts.
The decimal s different because it has o zero to represent there is ot a whole and has a decimal point to
separate the whole ones from the parts. The fraction i different because it has a denominator that clearly shows that
the whol is equivalent to a 100 parts.

3) False because 60 hundredths is equivalent to 0.6. 60 hundredths means 60 parts out of a 100 and 0.6 represents
six tenths which is the same as 60 hundredths.

0 a) EC008),¢ (013),5 (031), 4 (039),F (0.4), B (0.43),6 (0.97)

b)  Decimal mumbers have to be betwscen 0.4 and 0.3. Accept any of the following answers:
s, 0.06,
2) There should not be any number on the number line bigger than 0.66 or smaller than 0.1.

I, 012
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tos.
) Other numbers that round to 5 are: 4.6 4.7 48 49 50 52 53
3) 12.5 rounds to 13 and this has a 5 as the tenths digit.

1) a) The smallest answer Jan is thinking of could be 27.5 as this is the smallest number that rounds
up to 28.

b) Thelargest answer Jan is thinking of could be 28.4 as this is the largest number that rounds down
to28.

2) o) 65m  7.0m
66m 7.1m

67m 7.2m
68m 73m
6.9m 7.4m

3) True. When you round the children'’s distances and add together this equals 30m. Willow’s throw must round
to 7m. This means that her throw is between 6.5m and 7.4m. This would be greater than Jayden's throw and.
less than Kiran's.

m

W wa
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1) Toni is correct. If the tenths digit of a number with one decimal place is 5, the number is rounded
up to the next whole number.

2 as[7] sa[7] ss[] ss[] si[]
b) 4.5 rounds up to 5 because the tenths digit is a 5 which is exactly half way between & and 5. If a tenths digit
is 5, we round up to the next number.

5.4 is between 5 and 6. The tenths digit is less than 5 and is closer to 5. Therefore, we round this number
tos.

5.1is between 5 and 6. The tenths digit is less than 5 and is closer to 5. Therefore, we round this number
tos.

©) Other numbers that round to5are: 4.6 4.7 48 49 50 52 53
3) 12.5 rounds to 13 and this has a 5 as the tenths digit.

1) a) The smallest answer Jan is thinking of could be 27.5 as this is the smallest number that rounds
up to 28.

n Th
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1) Greg is incomect as even though it looks like too columns of 10 and ane row of 10 are shaded, which makes
a total of 30, some of the indlvidual squares appear in both the row and the columns o have been counted
tice, F you coun the squares individually thre s actualy only 29 shaded so this image represents 5y
ot 3.

2) The whole part has 7; (). If you subtract the % (53) from the 7, you're left with 5.
Therefore, S is missing digit in the 55 fraction. To calculate the missing digit from 175, 1 can
@ see that there are 25, which means the missing digit must be 1.

3)  Neither has more as they both have the same. sixty eight hundredths written as a fraction e
is 45 Eight hundredths as a fraction is written as 13; and six tenths written as a fraction e

is 55, which is the same as f55. If you recombine, then 15 + 1% = 5.
1) Here are 10 possible answers: @
Toand s, iy and 1, 5 and s, s and 5, 55 and i, 53 and 5, 5 o 55, 15 and s, ~

Bond s, fond

2

&

Craig My fraction has five tenths.
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1

2) Liliana is incorrect.
Nine is in the hundredths place. It is three ones and nine hundredths.

3
1.54 2.51 @ 1.59

Al the other numbers have five tenths. The circled number has four tenths.

RICHE ET 1018 | v/ | | 6044 2025 | v 1517
—

b)  Multiple answers possible. Children choose either 10.18 or 20.25 and write a clue which would
separate it from the other number. For example:

10.18: The tenths digit is less than 2.
20.25: The hundredths digit is an odd number.

2
) o) 17.08 125 235 11.97

Lola Suzie Jed Mo

b) Multiple answers possible. The children should have given a number greater than 10, with 2 decimal places
and no ones. For example:

1043 2095 20.71 30.52
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1) Bis the odd ane out because it is equivalent to one half. 4, € and > are all equivalen to one qurter.

2)
N Equivalent. B
Child " Vorx Explanation
fSelma 1 Selma has multiplied the denominator by 2 but has
7 2 X forgotten to multiply the numerator by 2.
,‘"9'"', 2 Logan has multiplied the numerator by 3 and the
2 x ‘denominator by 2.
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1) Bis the odd ane out because it is equivalent to one half. 4, € and > are all equivalen to one qurter.

2)
. Equivalent )
Child ‘Fracti vorx Explanation
fSelma 1 Selma has multiplied the denominator by 2 but has
7 2 X forgotten to multiply the numerator by 2.
,‘"9'"', 2 Logan has multiplied the numerator by 3 and the
7T E x denominator by 2.
W Beth is coect. She has maltipled the numerator
% v | and the denominator by 4 giving her an equivalent
fraction of f..

1) )% The mumerator and denominator are being multiplied by 2 each time.
<

b)55% The mumerator and denominator are being multipled by 10 each time.
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7 s = ~ forgotten to multiply the numerator by 2.
Pt i « | togan has multplied the rumerator by 3 and the
7T E denominator by 2.

Beth s comect. She has multipled the mumerator
and the denominator by 4 giving her an equivalent
fraction of f..

1) )% The mumerator and denominator are being multiplied by 2 each time.
—

b)55% The mumerator and denominator are being multipled by 10 each time.

Ne
<

) J2 The mumerator and denominator are being muliplied by | more each time, e.g. x2, 33, x4. To find
the next raction, you need to multply the mumerator and denominator by 5.

) Various answers possible. Check that the children have written sequences of equivalent fractions.
2) Children should explain with the aid of o diagram that each gir would receive two thirds of cake and that each boy would

receive four sixths of cake. They may then o on to explain that to thirds and four sixths are eguivalent so the children
would be eating the same amount of cake.

w .
v
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